A o B R o » =
(BALIEM)

I3 0F 10 AABMITS
T % | TE12155KERHBIE
A #l H E30£10818H ZHEEE @) 9,342,000
RETEEE i) 9,120, 000| FEMHE @) 9,120, 000
AR FilRRE % (B4 7,425, 600| A& EEAMHE Eiik)

&7 4 £ 1 BEaew |F 2 [ @ i &
BRI % 8, 800, 000
BTr—7> k54 8, 800, 000
()N iR B 8, 900, 000
HEMEE 8, 730, 000
BB KEF 8, 650, 000 EZFL
EID I XM 8, 700, 000
T X & BEBEENEBREEIE
A #l H E30£108188 ZHEEE @) 5, 184, 000
RETEEE i) 5,090, 000| FEMHE @i 5, 090, 000
AR FilRRE 4 (B4 4,101, 250| SAEEEMHE Fiik)

x & 4 T 1 Blew |F 2 E @mw B &
M) IT%E 4,850, 000
BTr—7> k54 5, 200, 000
KIFEL R EM iR
()N iR B 5, 350, 000
WBFKEMIE 4,800, 000 ZFL
BB KEF 5, 300, 000
T OE RN ERERERERIE
A #l H E30£E10818H ZLHEEE @) 2,754, 000
RETEEE i) 3,034,000 FEMIE @ 3,034, 000
RIS HIBREHE (i) B E AW iR

&7 4 £ 1 BEew |F 2 [ @ i &
BN TS5 2,900, 000
WS HEEkTER iR
HEREK 3,030, 000
747 —F® 2, 550, 000 ZFL

1/3R=9



A o #H B 0 & %
(BALIEM)

I3 0F 10 AABMITS
¥ Z|HMES34995K (HEAXKBYR F2IXK REABEXHBE
A #l H Ep30£10818H ZHEEE @) 3, 240, 000
RETEEE i) 3,320, 000| F7E @& @um 3, 320, 000
RIS HIBREHE (i) B E AW FiR)

x & 4 £ 1 BE@wm |F 2 B @w B &
WAHAIYToF=FTIT WIIXE 3,060, 000
R E R = %5 3,080, 000
ZTREEREW RIIXZIE 3,050, 000
v~ kAR 3,000, 000 E=*L
T X B |THAHN—ERHR
A #l H E30£E10818H ZHEEE @) 1,395, 360
RETEEE (min) — FEME @0 —
RIS HIBREHE (i) B E AW iR

x & 4 £ 1 BE@wm |F 2 B @w B &
W7HEa3ZI2=45—32X 1, 440, 000
T 2 —E=ER 1, 348, 000
(B)RE+F ENRI 1,292, 000 E=FL
74 RFE 1, 320, 000
2 ¥ R|IKEHZERBEEREA
A #l H E30£E10818H ZHEEE @) 2,590, 380
RETEEE (min) — FEME @p0) —
RIS HIBREHE (i) B E AW FiR)

x & 4 £ 1 BE@wm |F 2 B @:mw B &
BT LA 2,398, 500 Z=*L
(3 7 Ly 2,419,780
2 F)REFEARK 2,532, 400
fin B S 0) 2,431, 400
EOOXE R ERHEAREBEA
A #l H Ep30£10818H ZHEEE @) 1,842,848
RETEEE (min) — FEME @p0) —
RIS HIBREHE (i) B E AW iR

x & 4 £ 1 BE@wm |F 2 B @mw E &
CEI T 1,717, 600 %Al
IR FBA K 1, 854, 400
iz ] o S 2% T ) 1,930, 400
fin B S 0) 1,763, 200

KA EBREICTHERFNERBOEEREEHFT .

2 /3 R=2




A o #H B 0 & %
(BALIEM)

I3 0F 10 AABMITS
T ¥ gWIMRAIZILAZFTasEUI—AKBEHRAEA
A #l H E30£E10818H ZHEEE @) 1,998, 000
RETEEE (min) — FEME @p0) —
RIS HIBREHE (i) B E AW FiR)

*x & 4 £ 1 BEew |F 2 [ @i B &
FHEHBEKR 1, 850, 000 Z=*L
BIBXEEE 2,100, 000
HEEEE 1,960, 000
IYIUIRKR—Y TR

3/3 R=T



